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1. LHEoA A2l g y = f(x)ol tiste] o2 E2of Htoizt
1) Ztn=1,2,...9 tfo}q z, > 0 Y f(z,) = 00|21 Jim oz, = 0%l 4 (zn)°]
Z2sHH f(0) = 09 Kozt

(2) Ztn = 1,2,...9] date] z, > 0 I f(z,)

= 0°0]11 lim z, = 090 &€ (x,)9]
ZAHd f = 09g reiet, A
(3) Tt e] A xpol thdte] f(z,) = 0 oA f = 00] opbd sjA3t2] o5 Eoiat.
2. @& f:(=1,1) = Rol| i oh3 7 BA
h F fE &Sk 2754 F o (- 1,1) - Ro| EAgit,
(W) Ic(—11)°] F3to]H f(I)= F3Folt.
£ A7k, & =0 gstoit
(1) OhH = (hHE S5kt
(2) (hE rEska|gt (7hE ghEshe] o gho
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= A9] oJu|g AsksHA) At
@ 3 | hHmOSb(f,P a) = A9 oJn|g AgkaiA Het.
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